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PREVIEW QUESTION BANK(Dual)

Module Name : Junior Engineer Civil pC e ‘532_/ 2- j 4’/ 2‘4’ /2020 ::a;

S s = (SR

Sr. | Client Question ’ . Negative
No. Question Body and Alternatives Marks Maiks
Objective Question
1 1 A substance which deforms continuously when subjected to external shearing force is called , 1.0 0.25
5 YTy St S1E U 99 & e B9 IR aaR e g g, FE A
AT Solid
39
Al . = 5
.~ Fluid - (Correct Alternative)
wq
&3 Gas
g
fqd Vapour
a=
Objective Question
2 2 is an opening in the wall or base of a vessel through which the fluid flows. 1.0 0.25

, U Fa $1 dlaR 11 e A Rud v 0w @ e mam A g s gl

Al Orifice — (Correct Alternative)
EL|

:42 Mouthpiece

b iicEa)

fu' Venturi flume

et SfaITaR!
fM Notch

|
Objective Question

3 3 The maximum velocity in a circular pipe when flow is laminar occurs at: 1.0 0.25

S TR U ¥ e WA T B 8, 79 s an WEarel

:‘“ The top of the pipe

u1gy & wfi

A2 )

.~ The battom of the pipe
gy & T

3 .
'\' Centre of the pipe — (Correct Alternative)

urgy % ww
‘,M The periphery of the pipe
urgd @t uffy
Objective Question
4 4 A channel with constant bed slope and the same cross section along its length is known as R 1.0 0.25
FRR e o= aTe U S fored) quf ofaré & iy, e E SR R AR IR FEUASE Al

A

L Natural channel
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Wil Ad
Open channel

fga ¥7a

A3 \stificial changel

FEW AT

Ad - = - 2
. Prismatie channcl — (Correct Alternative)

A2

forewa Fer
Objective Question
5 s A centrifugal pump impeller having 200 mm diameter runs at 600 r.p.m. The tangential velocity of the impeller is
200 mm ST AT U SUF=1 T FHITR 600 r.p.m, TX Tol 3| FHICR T WG 47 i
Al 314 mysec
3.14 m/sec

.

1% 6.28 m/sec ~ (Correet Alternaftive)
6.28 m/see

f'“ 12.56 m/sec

12.56 m/sec
A

4 31.4 misec

31.4 m/sec
Objective Question

6 6 The type of liquid to be used in the U tube of differential manometers, is

Al Aeiiter & U ogE O 5 R & aRat &7 IJunhT € 2

Al 1 it Tiquid
e YR d¥d

Al
Heavy liguid — (Correct Alternative)

Yl aver

fu Water

ot

4 Petrol

g

A

Objective Question

7 7 The height of free surface above any point is known as

e 4 fig, 35 R T T ) S S

fA A Normal pressure

HH ad

fu Standard atmospheric pressure

& qgHEHd T

‘\‘ Static hewd — (Correet AHernative)
wfere wid
1\4 Dynamic head
Tifere 2
Objective Question
8 8 A turning effect produced by a force about the point is called 3
uw fig & 9RY 3R 99 gR IQEd UF aeia UHIE B P A &
Al . . "
Moment of force — (Correct Alternative)
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Tyt

fu Moment of couple

qag el

fu Moment of Torque

et Siregef

fM Moment of Inertia

wgea Aol

Objective Question

9 19 The diagram which represents all active (applied) forces and reactive (reactions) forces, is

a8 v W et frarefer (@) el o wfafkarite (wfafmel s@ & fregu s g,

fA ] Shear force diagram

HTE e HE

,.42 Bending moment diagram

T T e
Al . . .
) Free hody diagram — (Correct Alternative)

aa-Fdue ane

A Deflection diagram

fagrau s

Objective Question

1010 The centroid of a solid circle whose diameter 'd", is:

U 31 g, e o d R, & e B

d/2 = (Correct Alternative)

3
A3 4
a4
A4 2an

2d/3
Objective Question

1 11 The moment of inertia of a rectangle about the centroidal axes having breadth 0.3 m and depth 0.4 m is

TS 310 o @8TE 0.3 m SN TES 0.4m B, I9S Sy el & IRY ok Fge amyul

Al

9x104m*
9x 10 m*
2
16 x 16~* m? = (Correct Alternative)
16 x 1674 !
Al
ST 18x 104 m?
18x 104 m?
Ad
o 32x10%m?

32x10% m?
Objective Question

12 12 In direct ranging of a line, the number of ranging rods required is

TS Y U e A, Havad HONE oel B HE ﬁ%l

5 J Atleast one

HH Y B UH
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Objective Question
13 13

Objective Question
14 14

Objective Question
15 15

Objective Question
16 16

www.ErForum.Net

{&2 Atleast two

FHAPAQ

Al i

. Atleast three - (Correet Alternative)
&0 W A

34 Atleast four

FH Y FH IR

Chain survey is recommended when the area is:

e i Y, 09 SitE Gaa B i @ W 2|
Al Crowded
Ebci

f\z Undulating

GREG

f‘u Having obstacles
et aren

A4

Simple and fairly level — (Correct Allernative)

e o gt avE woae

The fore bearing of a line is 60°. The back bearing of this line is

TS @ H1 3 fEaTH 600 B | 59 a1 1 Uy few il .

fM 60°

60°
A2
L1200
120°
Al
L 240° — (Correct Alternafive)
240°
Ad
. 360°

360°

An alidade is used in plane table surveying for:

@ 2ae Faaor § exiEs 1w FRm a2

'fM Centring

&gl
A2 .
.7 Drawing lines — (Correet Alternative)
et it
'.M Traversing
AT
f‘w Levelling

FHAANBRU

The height of collimation method for obtaining the reduced levels of points does not provide a check on:

farg3ff % U §U TR &1 Wi B & g W faft # Fard

fM Reduced Levels

e §UERR
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Objective Question

Objective Question

Objective Question

Objective Question

www.ErForum.Net

:‘\2 Fore sights

iy

fu Back sights

uyEf®
Ad 5 A A
. Intermediate sights — (Correet Alternative)

e efy

The vertical distance between two adjacent contour lines is called

R Pty

fA 1 Contour gradient

o= yau

62 Vertical equivalent

L Y .
Caontony interval — (Correct Alternative)
T M

A% Vertical cliff

St wur

An angle made by a survey line with the prolongation of the preceding line is called

el Y % el & Ty e Xa gRT S T S wHEa gl

N Direct angle

e I
fu Indirect angle

e H07
':M Included angle

el @Yo

A4 5 i .
. Deflection angle - {(Correct Alternative)

faéiqor wior

A transit theodolite fitted with a stadia diaphragm and anallatic lens is known as

s Rfar grnE R WHeRe 3 & WY o Us Sutad REEiaRe & .

'_\I Tacheometer — (Carrect Alternative)

Hwamftey

f‘u Electronic theodolite

TR RrSemse

fu Subtense theodolite

geog aeage

fM Astronomical theodolite

@ity frdeaEe

A covering of stone placed on the exposed top of the wall is called

AR & go Ui I T Y YRR & HTaR0 B HET

f“ Corbel

A1 @Hw)
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Objective Question
21 21

Objective Question
22 22

Objective Question
23 123

Objective Question
24 24

www.ErForum.Net

A2 Comice

T (HIE)

A3
Coping — (Correct Alternative)
ST (WHiftm)

fM Reveals

BRG]

The connection formed when two external brick walls meet, is

e R e e e E—

Al : 2
" Tee junction
EEEE
Al
) “ Quaoins — (Correct Alternative)

Hiferan (waitge
‘}3 Squint
@ (=)

11\4 Queen closer

GEESIEH

The early setting property of cement is brought out by:

wne o ity edteu @ U GIEETIIN]
- Reducing the gypsum content — (Correct Alternative)
Romatmsisn st s

A2 ;
. " Increasing the gypsum content

R Ft A F T ER

fU Reducing the calcium chloride content

Ffeway wiREe P AT B FAP P

fM Increasing the calcium chloride content

Ffearan seiRgs # °E FEg R

The hardness, yield and tensile strength of steel can be obtained by

e ) SR, Tva R 77 g W &1 o gl gl A

Al ; -
 Increasing the silica content

ffee &t A ST

:42 Decreasing the silica content

Rftmr s T s R F

{u Decreasing the carbon content

FTa B AH FH P D

A4 . .
tncreasing the carbon content — (Correct Alternative)

T P AT TG BT

The purpose interposing a copper or galvanized iron sheet in between the timber and the brickwork, is

el 3R g & e 7 U die O ol die @ O &) Sl &1 IeRg !

fm To provide elegance

TTeTed WaH Sl
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A2 To provide strength to the brickwork

3 o ) aoreg S

A3 . . . . .
. To prutect the timber from deterioration — (Correct Alternative)

TS P TWIE B | g\

54 To provide support for joist

FHI B P UGH T

Objective Question
525 Waterproof membranes are produced by using

e fir FommasE ARy

:A ! Concrete
-4

f‘\z Steel

Al i

7 Plastics - (Correct Alternative)
4 .

fA Tiles

HERCH

Objective Question

6 26 The best method to protect buildings against termites is to apply a chemical treatment: 1.0 0.25

e | sHRA! 31 6T F B g9 s oo & U TS WY g o)

Al

To the soil at the time of construction - (Correct Alternative)

et & W firdt @t
;AZ While doing the major roof concrete
& d W die Sed §99
;'\3 After completion of the building
HEA QU B & 918
M While doing the painting works

e & &1l & R

Objective Question )
27 27 During the arch construction, the purpose of providing keystone or keybrick is

BegTa (31 FAmior & R, BERTE &1 URR (B 1 FeH) e H3 $1 3e% ' 2

fM To provide elegance
T WaT
A2 ’ y .
"7 To increase the load carrying capacity

U TE &HT B TG

fu To remove formwork

B! e

- —— - .
T'o lock all the vousseirs in position — (Correet Alternative)

it Hevr whindl &) il = o e s

Objective Question
28 28 The oldest type of lintel is

fRfee &1 Gad [ WHR ‘%I

.
f‘\ Reinforced concrete lintels

vaferd dwie ot ffea

www.ErForum.Net www.ErForum.Net www.ErForum.Net




www.ErForum.Net

Objective Question
29 29

Objective Question
30 30

Objective Question
31 31

Objective Question
32 32

www.ErForum.Net

A2 Timher lintels — (Corrvect Alternative)
fear fefea
53 Steel lintels
wa fefea
4 Brick lintels

de @i fiea

A

Which of the following flooring methods is used for low cost village houses?

PfrAdsR A el R sraa e e F W & Ru s S ad

:A . Stone flooring

TR T

:‘\2 Brick flooring

Ean i

Al
Mud flooring — (Correct Alternuative)

forgt w7 vt
'_A4 Concrete flooring

$wic o By

The process of covering rough surfaces of walls with a thin coat of cement mortar is

T b U T B a i o e Bl 9w e g

':A] Pointing
Aot
.:AZ Water proofing
EREE
;U Painting
g
_'H Plastering — (Correct Alternative)

TR &1

The upper horizontal portion of a step upon which the foot is placed, is called

it 1 Fud dfes v o W IR @ S 8, 39 FHET o |

A Fight
Hiet il (wamse)

:‘\2 Riser

HRIEP-HIH ({FeN)

3
A Tread — (Correct Alternative)

uraEl (39)

&4 Step

g @)

l

As per IS 456:2000, the maximum free water cement ratio for M25 grade reinforced cement concrete is

1S 456:2000 & HTER, M25 I3 Vet Giile d@te & g siftean gae o Wife seum

Al 940

0.40
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Objective Question
33 33

Objective Question
4 (34

Objective Question
35 1135

36 36

www.ErForum.Net

Objective Question

Page 9
A2 045
0.45

A3 5 )
. 0.50 —(Correct Alternative)

0.50
A4 55

0.55

Workability of concrete is measured by

#ite o gordal @HRRG) PR

f'\ ! Compression test

wdte udiemon

5
“ Slump test - (Correct Alternative)

ST e
Al

3 Soundness test

TEdl T

'.M Flexure test

HTAHA Ttefor

The 28 days characteristic compressive strength of M25 grade concrete is J 1.0 0.25

M25 U Febie 3 28 AT 2 fosiwar wifies widg 2l

f“ 12.5 N/mm?

12.5 N/mm?

A2
7 16.67 N/mm?

16.67 N/mm?
A3 s
25 N'mm- - (Correct Alternative)
25 N'mm?

A4
. 50 N/mm?

50 N/mm?

While using ready mixed concrete, if the residual slump is not good enough for placing and then will be added | 10 0.25

to boost up the slump.

AaR i Sete ®1 IUh S TG, Tfe 3ER sEuT, ®TH F g vaie 78T & 3R 5 sEua i wgm &
e smnemem

f\ ! Cement

dhe

fu Water

urt
Fly ash

g Q1

A4 Superplasticizer — (Correct Alternative)

IH Wi EeRE

A3

The fibre to be used to increase the impact strength of concrete is 1.0 0.25

Sl b g A T R e e R Tevegs R

,Al Nylon
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Objective Question
37 137

Objective Question
38 38

Objective Question
39 39

Objective Question
40 40

www.ErForum.Net

Page 10
EILGIE]

Steel — {Correet Alternative)
ELatif

&3 Carbon

FHe

Wood

L]

A4

For rapid repair of damaged airfield pavements, the concrete used, is

R e e e T e Fori e T 31

{“ Ordinary portland cement concrete
YR IS Wie F@ie

fu Pozzolana cement concrete
gieier HiHe dmie

Al "

7 Polymer concrete — (Correct Alternative)
qiterR dele

fM No fines concrete

HEH vl R date

1.0 0.25

Long term strength and durability under adverse conditions can be improved by adding in ordinary portland

cement concrete.,

uﬁ@gﬁﬁmﬁmmmﬂzmﬂ gy, o g ot wifda § gur fear o
A gl

Al Sodium Chloride
AfEn FRES

A2 :
Fly ash — (Correct Alternative)

:'\3 Sucrose

el

_A4 Lactose

B

The best and most efficient method for concrete compaction is

e s g s e 7w g T 3

Al Rodding
bNICE
fu Spading

Tard

63 Tamping

e

4
Vibration — (Correct Alternative)
g

The first days of curing is very important for the ordinary portland cement concrete to avoid susceptible
permanent damage.

i z Wt & F 79 F R wn Ade die Fate & fw ugd 2 &1 ufye @@ 9gd
TEayl B
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:“ 3 (Correct Alternative)
3
A2y
7
AYma
14
Ad 28
28
Objective Question
41 41 The material suitable for arresting the wider cracks, in particular those in walls and soffits, is 1.0 0.25
U X, AR w0 & daRt 3k wiftee, § we & e uge anft |
1 g
Epoxy resin = (Correct Allernative)
uiedt e
A2 Water based Acrylic resin
arft sfrenfya e @
3 Polyurethane resin
afeftgye e
4
Cement mortar
e 1w
Objective Question
a2 4« A soil has a liquid limit of 31% and plasticity index of 21%. The plastic limit of the soil will be 1.0 0.25
U 175 ) 5 31 IR GueTal guebi 21% ¥1 g @ guema @ gt
:\I % — (Correct Alternative)
H%
AZ 1504
15%
A3 20%
20%
A4 559
25%
Objective Question
4 4 A bed of sand consists of three horizontal layers of equal thickness. The value for k is 1 x 107> mmy/s, 2 x 10% mm/sand 3 0 023
x 10° mm/s respectively. The average horizontal permeability is
Yd & s &R GHE At @ diT Ao W ¥l k BT AH B 1 x 1077 mnvs, 2 x 107 mnv/s 3R 3 x 107 mnvs 1
e f g &
Al ) x 10° s
1x 107 mm/s
Al A ‘ .
22 1™ mm/s — (Correct Alternative)
2 x 107 mm/s
A3 3% 109 mmis
3x 107 mm/s
4
A% 6x 107 mmis
6x 107 mm/s
Objective Question
4“4 The pore water pressure at any point on the surface of the ground water, is 1.0 025

Page 11
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Objective Question
45 45

Objective Question
46 46

Objective Question
47 47
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1T B Fag W ) o fig e du e, g g

:’“ 1 kN/m?
1 kN/m?2
:,u 9.81 kN/m?
9.81 kN/m?

A3 y "
. Lero—(Correct Alternative)

b
4
f‘ 10kN/m?

10kN/m?

The type of shallow foundation that can be used when the soil at shallow depth is very weak or highly compressible: 1.0 0.25

m%?ﬁmmwmmwwﬁmmWWﬁwwmwi
|

Al Raft foundation — {Correct Alternative)

e At

52 Isolated footing

U u1g (Plem

A3 Sirip footing

vzt urg (gfem

ff\d Combined footing

Hg aTE (Prem)
A soil_eiement is subjected to minor and major principle stress of 30 kPa and 50 kPa respectively. The maximum shear 1.0 0.25
stress is .
TET dcd B AT 30 kPa AR 50 kPa 3 TR R 3t fafkmy witaa & ot oo wman €1 sifireran srosgor
BIGER] gl
Al 40 kpa

40 kPa
.ﬁz 10 kkPa ~ (Correct Alternative)

10 kP’a
A 20kpa

20 kPa
A 80 kpa

80 kPa

1.0 0.25

The artificial and mechanical process of decreasing the volume of the soil rapidly by the expulsion of air vbids. is

g e s P g1 3t & ) ot s v ) o 3w 90K i W 3

Al Compaction — (Correct Alternative)

a‘gqvl

'_Al Primary consolidation

fiE FHe
fﬂ Secondary consolidation
feehtos e

fM Seepage

LLC)
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Objective Question
48 48

Objective Question
49 49

Objective Question
50 50

Objective Question
51 51

www.ErForum.Net

The number of blows observed in a SPT for different penetration depths is given in the figure. The observed N value is 1.0 0.25

Penetration |Number
sampler (mm) |of blows

0-150 11
150-300 17
300-450 23

ﬁaﬂﬁﬁﬂm%maim@mﬂmuﬁmm(swﬁaﬁwe{mrcﬁm’rmaﬁmanﬁ@mwzqar
beic] I

I

40 - (Correct Alternative)
40

Ak

51

The ultimate bearing capacity of a soil is 220 kN/m?, the depth of foundation is Im and unit weight of soil is 20 kN/m?. 1.0 035
What is the net safe bearing capacity, if the factor of safety is 2.57

fﬁ%mﬂgﬁﬁgfgaﬂﬁﬂm Im & 3R o) 7 3T MR 20 kN / m? 31 TR GRAN U

.M 96 kN/m?

96 kN/m?
A2 2 i
. 80 kKN/m* — (Correct Alternative)
80 kN/m?
A3
. 88 kN/m?

88 kN/m?
A4
. 8kN/m?

8 kN/m?

A foundation where depth is equal to or less than the width is : 1.0 0.25

uw s wel mevd, Mo F W g v FH e d, Gk

Al Shallow foundation — (Correct Alternative)
Iuet 7

ZAZ Pile foundation

wy e

‘?3 Well foundation
Fy g

:'“ Deep foundation

e Fra

The total load on a shallow foundation is 400 kN and the safe bearing capacity of the soil is 200 kN/m?. The area of the s s

footing required, is i

wm#%mgmmmkN%ah?fﬁgﬁaﬁmaﬂummzoome%! HETTH UTE (FTeT) &1 &a%d
[

!M 8 m?

www.ErForum.Net www.ErForum.Net




Page 14
www.ErForum.Net 9

Ad 3 .
. 2 m* - (Correet Alternative)

Im?

Objective Qu_e__s__li(;n
52 s2

‘A pile is driven in a clay having an average unconfined compressive strength of 120 kN/m?. The cohesion of clay is 13 025

1zomfm2mﬂmmﬁalﬁwu-ﬁumsmaﬂﬁ§tﬂmm%ihs‘laﬂm 21

‘:M 240 kN/m?

240 kN/m?

i ‘:‘\2 120 kN/m?

120 kN/m?

R
60 KN/m* — (Correct Alternative)

60 kN/m?

‘:'“ 30 kN/m?

30 kN/m?
Objective Question '

53 53 Which source of watér, among the following is not a surface source? . o 025

Fafefea 33 &% a1 e &1 wie, wad D T 2

| {M River

LGl
:u Well - (Correct Alfernative)
T
Lake
s

Ocean

He IR

A3
A4

Objective Question

4  The design technique adopted in design of large water supply networks, as an aid to simplify and separate the smaller 10 025
" loops, is:

%ﬁ%ﬁ;ﬂ;@memﬁﬁﬁqm%wﬁa@mWW%mﬁmﬁm
[

I A

! Hardy cross method

g wra fafy
A2 Circle method
ga fafy

A3 Electrical analyser method f | |

fagga fasdws fafy

fu Equivalent pipe method — (Correct Alternative)

geq urgy fafy

Objective Question ) ) .
55 55 The devices which are installed for drawing water from different water sources, are called . Lo 025

fafira St widl @ urfht @i & R o Susmr e e 39 Hel W B
www.ErForum.Net www.ErForum.Net
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Obyective Question
56 56

Objective Question

57 57
Objective Question
58 58

Objective Question
59 59

www.ErForum.Net

A3

f“ Intakes — (Correct Alternative)

g
A2 Eiters
Freg=s

Inlets
waRET
{M Qutlets

Frfm

A3

Stoneware pipes are generally not used for sewer mains, because they are

AR OR Wi R & forg weerd wrgy &1 Jud e v o, #ifs & '

Al

7" Weak in compression

HdteT d FHeiR
Al = o . ; ;
. Weak in tension — (Correct Alternative)
GRIGE: & 21 E
Hydraulically less efficient

ZaaTed 9 4 &H FIE
Al

4 2 ; ;
Less resistant to organic corrosion

Sifde e & g &w wfadid

Sewers are generally laid, starting from their:

Haw s iR A A HHE T g e )

fAI Any point along the alignment

Pk e e
A2 Mid point

wu fag
j“ Off take point

Sy Afere fag

'_N Qutfall point — (Correct Alternative)

et farg

1 Disposal of sewage causes formation of sludge banks in:

U39 F Fgem & SR, T 3qu ue &1 T8 gl 8l

f“ River water

T8 & yrl

fu Pond water

GIGICERE

'__\3 Sea water — (Correct Alternative)

wqE & U
A Lake water

e & it

Al

Dissolved oxygen in streams is

RIS B g SRl A

www.ErForum.Net
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Al ; . .
. Maximum at noon - (Correct Alternative)

TusT & 99y iUy

fu Minimum at noon

BIUET & TG AT
3 Maximum at mid night

31t I B 3Hfman

:M Same throughout the day

A

AR
Objective Question
60 60 In water treatment, slow sand filters when compared to rapid gravity filters, produce: 10 0.25

e e H, i Ted Redes @1 gaen § ff Yo Predies, &1 I 4 ¢

'_'“ Lesser contaminated effluent — (Correct Alternative)

oy ugita afd-am

;"\2 More contaminated effluent

s ﬂiﬁaﬂﬁaﬁ
i A} Equally contaminated effluent
UM Y | g afg-wm
A No contaminated effluent

Figwor 3R afe.am

A

Objective Questioﬁ )

61 61 The process of purifying water by passing it through a bed of sand or other fine granular materials is called .10 025
%ammamaaﬁmmaswaimﬁwﬁamwﬁaﬁwmﬁaﬂmﬁ T AT
I

Ai Screening

B
A2 . o .
. Filtration - (Correct Altcimative)

fu Sedimentation

CRICE]
f“ Disinfection
Objective Question

62 62 The internal diameter of a sewer should not be less than

S i Y T B AR '

fA] 100 mm
100 mm

‘_'“‘ 150 mm - (Correct Alfernative)

150 mm

fu 250 mm

250 mm

f“ 300 mm

300 mm

Objective Question _
63 63 The earth's water circulatory system is known as .

et & o UREERl oA B F w9 H S A gl
www.ErForum.Net www.ErForum.Net www.ErForum.Net
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f“ Earth cycle
PHEED
.-'\2 Water cycle

EGEET

A3 i
Hydrologic cyele - (Correct Alternative)

Sreftg =
fM Irrigation cycle
foar o
Obyective Question

64 64 A system of irrigation very suitable in tracts where there are number of small rivers and streams, is 10 025

% & 1 R ) gt S e gt B ARl IR wrIo o s v 8, T 21

A

J Well system
B Jorredt
A2
. Bandhara system - (Correct Alternative)
FURT wumeRt
{\3 Lifting system
IR HoTedt
54 Closed system
Objmve Quesﬁon i " o - b " N | MR

65 65 A dam in which the external forces are resisted by the self weight of the dam, is called . - 10 02

U aiY o 9y & @-4R R 9T a9 @ vy @ g, 3a EaEIG K

:‘l Gravity dam — (Correct Alternative)
WRIE @iy

;»\2 Steel dam
FErl aiy

I A3 Tinber dam

T |y

A4 rch dam

IR Y

Objective Question = s

66 66 The river is trained to provide sufficient and efficient cross sectional area for the expedilibﬁs passage of maximum flow,is 10 025
: called

ﬂﬁ%ﬁ;ﬁﬁ%%@ﬁm%%mmﬁ%ﬁuﬁﬂﬁa%wﬁﬁ
&gl |

f” Zero water training
A o

{\2 Low water training

a o o
1_&3 Medium water training

e o Fraa

f“ High water training — (Correct Alternative)

= ve Fdaw

Objective Question
67 67

The most common amendment used to supply calcium for the reclamation of sodic soils, is . 1.0 025
www.ErForum.Net www.ErForum.Net www.ErForum.Net
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Objective Question
68 68

Objective Question
69 69

Objective Question
0 70

Objective Question
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mw&wimmwmasmmmmmmmw, 2

Al Sodium Chioride

g wiRgs
:\2 Gypsum — (Correct Alternative)
foremm
A Sodium Silicate
wiigan fafede

‘,M Sodium bicarbonate

A

A simply supported beam of 4m length is subjected to a udl of 2 kNm. The maximum bending moment at the centre is 10 025

4mﬁaﬁﬁwwmzkNm%Wudi%W%ihﬂmﬁnmm 21

Al 5 kNm

2 kNm
A2

. A KNm - (Correct Alternative)
4 kNm
A3 ¢ kNm

8 kNm

A 16 kNm

16 kNm

The section modulus of a rectangular section of breadth 400 mm and depth 600 mm, is - 10 0.25
U HIAHR W Rt ST 400 mm 3R 716X 600 mm, 1 TR A19iH |
:A' 12 x 10% mm*
12 x 10 mm?
f\Z 36 x 108 mm*

36 x 10% mm* ‘
A

3
72 x 108 mm*

72 x 108 mm*

A4
L 24x 10 mm? — (Correct Alternative)

24 10 mm?

A simply sdpported beam of span | is carrying a point load W at the mid span. The deflection at the centre of the beamis 10 025

FARTR 1 % G Ter R 35 e g MR w31 1 35 b 1 R i

f“ WI3/3El

WP3EI
AZ . ! -
. WIPASEL - (Correct Alternative)

WPA4SE]
A

A swissaer
SWI3/384E]

Ad
WIZ/48E]

WI/48EI

www.ErForum.Net ‘ www.ErForum.N
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71 i\ The end conditions of a normal column is 1.0 025

e HHE BIaH $ RR7 sraw I

A

g One end is fixed and the other end is hinged

& BR AR § ¢ oIk g oR wed R Rw1 @ &
A2

. Oneend is fixed and the other end is free

TF BR FRR ST § 3R gor1 SR g @ §
Both the ends are hinged

A BR Pl WRF AT

i Ad
. Both the ends are fived rigidly — (Correct Alternative)

ﬁaﬁrﬁmﬁﬁnﬁ%?

A3

Objective Question
n n The self weight of the structure is called . 1.0 025
el iE & wuR B &1 Il 81

f“ Live load
g 4R

.'-\2 Dead load — (Correct Alternative)

LRI
A3 Wind load
Ua+d 4R
A4 Earthquake load
YHY YR
Objective Question
LN ] In the limit state method of design, the maximum strain at the outer most fibre is ‘ 10 0.25

et @5t <t sraen fafty &, vl red) wigar W siftram gl B &1

' f“ 0.0035 — (Correct Alternative)

0.0035

:AZ 0.002

0.002

A3 5003

0.003
A4 0 0025

0.0025
ObjeciveQuoetion .
"M If the depth of neutral axis more than the critical neutral axis, the section is ; 10 025

afe IERAA sief &1 RIS, wHifde Seni se A sfle § A ds |

f_M Balanced
ugfera

fu Doubly reinforced

e wafora
: ':\3 Under reinforced
&1 uafed
;-\4 Over reinforced ~ (Correct Alternative)

e wafera

Objective Question ,
5175 If ly/Ix <2, the slab is designed as . 10 025
www.ErForum.Net www.ErForum.Net www.ErForum.Net
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o ly/ix<2 &, i oz (&) B & w0 3 e far sy ]

?Al Flat slab
arR9E
{\2 One-way slab
TR g
Two-way slab — (Correct Alternative)

Ritwrez
A4

. Continuous slab

Al

Hed ug
Objective Question o
7% 76 The safe load carried by helical reinforced column is s 10 025

Fafera wafdr i R a5 e man o Wi gl

Ad 105 times the load carried by the similar columns with ties —(Correct Alternative)
AU & AU FA ST gRT T8 Y T R BT 1.08 T
f‘u 1.25 times the load carried by the similar columns with ties

Y 3 WY A e GRT T8 Y 1T HR &1 1.25 T

'_A3 2 times the load carried by the similar columns with ties

Y & 1Y G Bl gRT I8 Y T UR &1 2 77

fM 2.5 times the load carried by the similar columns with ties

WY & Y G Bl §RI T8 YT HR $12.5 T
Objective Question -
mm The soil with provides excellent sub grade. 10 025

_ e E@ITr IueRR uer swd 21

A

: Low moisture
& 7t

.‘\2 . g - .

. High stability — (Correct Alternative)
I fRman

3 High moisture
I T

o High clay content

I Hfat wE

A

Al

Objecti;ie Question ) ) _ . e '
%78 The dowel bars are used in rigid pavements for: 10 025

o3l B BT IUAN FER Feur & forg fasan sman 1

':M Resisting tensile stresses
T wftea & uferly

?*\2 Resisting bending stresses
da Ufaraet & ufaRy

f'u Resisting shear stresses

U ufaad & uferiy

Transferring load from one portion to another — (Correct Alternative)

YR ¥ 7w iR @ gt R o wimiaRa a3

A4

Objective Question

M Hill road is the one passing through: 10 025

www.ErForum.Net www.ErForum.Net www.ErForum.N
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Objective Question
80

B0

Objective Question

81

Objective Question

82

81

82
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WEIESH_ AIeRATEI AR 3

;“ Steep terrain - (Correct Alternative)
srfervror aumr

A2 Plain terrain
AT Y- HTT

‘:\3 Water bodies
e el

?‘\4 Bridges

gl

An example for bailasf haterid is : o ' 1.0 025

Aare Wefiud &1 UE I 2l

i ‘_M Concrete

Fwic
'_AZ Steel

T
A3 Bricks
Erd

Broken stone — (Correct Alfernative)

T FUTRR

Ad

This loading normally adopted on all roads on which permanent bridges and culverts are constructed, is - 10 1025

ai:mﬁwm#maﬁwﬁmmm%ﬁmmwﬁwﬁgﬁ@mﬁuﬁﬁmwa '
I 1

A

: IRC Class 70 R loading
IRC 31t 70 R HRY]
A2 IRC Class A loading
IRC 40ft AA HRUT
:\3 IRC Class A loading — (Corvect Alternative)
IRC Hoft A YRT
A% IRC Class B loading

IRC &uft B YR

The process of filling the annular gap between the newly laid permanent tunnel lining and excavated earth face is called 10 025

jg%mﬁwﬂ@mﬁa@ﬁaqﬁmw%ﬂamaﬁﬁmﬁmﬁ FHET A
I

A

1 Erection

Sfamfo

1\2 Grouting — (Correct Alternative)

|te Rl (et
f:‘ Mucking

HEE WO
:M' Hauling

Y

www.ErForum.Net www.ErForum.N
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Objective Question

8 8 A calculation of the quantities of various items of work, and the expenses likely to be incurred there on, is called

<P P T 2 T 8 O, o €09 e ) o FE TR

‘_M A valuation

U e

f’u A design

& o

fM A payment

TP YdH

An estimate - (Correct Alternative)

U@ e

Ad

Objective Question .
84 84 - The quantity of steel is calculated in

SR 3 2 o H a2

A

1
Linear metre

T Hiex

:42 Square metre

af fiex

f‘j kilogram — (Correct Alternative)

freirom

f\d Lump sum

Uhad
Objective Ques_iior! - '

85 85 - The purpose of valuation is

I Rmamwem

A[ To design a structure

U WX feomga e &

To buy or sell a property — (Correct Alternative)

e &

_ 63 To estimate the life of a structure

i A2

TS EEA1 & Sla ST 3HE TR $

&t To pay the income tax

HRIEH BT YTTAH A &
Objective Question
8 8 Cracks on the concrete structures are formed due to the:

FHIe TS & FROT IR F1d1

i '_'“ Shrinkage of concrete - (Correct Alternative)
FWIe & Wpa

42 Settlement of concrete

Fepie & e

AS Failure of concrete

Fwic o fawad

f'\‘* Wear and tear of concrete

Hebic B ge - He
www.ErForum.Net www.ErForum.Net
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Objective Question

87 &7 For sprayed concrete, gunite and shotcrete, the siz;.e of aggregate used, is I - 10 6,25
 peTRa Fle, THIRE IR Sewie & Ry, R SeR S I m oM Rt e @)
':M More than 10 mm
10 mm ¥ 3Hf¥®
:\Z Less than 10 mm - (Correct Alternative)
10 mm 9§ &H
A3 Less than 4.36 mm
436 mm 9 HH
‘fm Equal to 12 mm

12 mm & RER
Objective Question

88 88 What is the size of hole when 16 mm diameter bolts are used to connect two plates? 10 025

a‘ﬂﬂaﬁaﬂsﬁaimlemmm%mmrmmm%a}mmmmm

Al

. 16 mm
16 mm
42 17 mm
17 mm
Al 5 3
. 18 mm - (Correct Alternative)
18 mm
fM 20 mm
20 mm
Objective Question -
8 89 - A laced column is designed for an axial factored load of 200 kN. The transverse shear resisted by the laced system is 10 0.25

meﬁg 200 kN 3 afeft i R 3 R R Rvan 7 1 o womeh gy R R s s
.

Al 20kn

20 kN

&IOI;N

10 kN

Al : ; +
A S kN = (Correct Alternative)

Objective Question N o
% 9% Which among the following types of section, is used for lightly loaded beams? 10 025

Prafafea & & frw vor & g &1 9udn geb &1 @ wifta v F R frar omar

',M I section
193
.-\2 Square hollow sections — (Correct Alternative)

R Shed @

'_M Gantry girder

AR

A

* Welded plate girder

IR TR
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91 91

Objective Question
92 92

Objective Question
23 93

Objective Que.s!.ib.n
94 94

www.ErForum.Net

The tensile yield stre;nélh of a solid E 250 (Fedlo.). éﬁde steel plate of size 330 mm x 10 mm s
BRI E 250 (Fe410) S W Qe FORI®T 3R 330 mam x 10 mm 2, &7 7 Wi S

Al 002 kN

902 kN
A2 661 kN
661 kN
A3 ssokN
550 kN
Ad . ‘ .
. 780 KN - (Correct Alternative)

780 kN

One of the principles of construction planning is

Prsfor mmafe & Rigidl 38w & .

j '_“ The plan should be realistic — (Correct Alternative)

wrufes gyrdardt g anfey

A2 e pla sl 15t 56 saalistic

At gurdardt T g iy
A3 The plan should be fixed
wfeE g g ey
A% The plan should be shallow
HafeE Iy g ARy

The duration by which an activity can be delayed without delaying any other succeeding activity, is called

Rmaafﬁ%ﬁm%ﬂ;ﬁﬁﬁaﬁﬁﬂmamnﬁﬁmﬁaﬂmmﬁﬁﬁaﬁmmmaaﬁ
SO 81

. f“ Interfering float

E2IGEQLANC]

f'\z Independent float

LEGERSE]

i A3

. Free float — (Correct Alternative)

o @
A4 Toial float

EASE]

The process of“(.ieterrnining the quality of a large group by examining a part of the group is called

AR 3 U R 1 i e U a3 Wigg o e P a3 A wt ) Y

fq[ Testing

giter

:12 Sampling — (Correct Alternative)

FIGEEC]

fU Inspection

Frlilaron
J,M Inspection and Testing

FAReor ud aligmor
www.ErForum.Net

Page 24

10 025 1]
g
10 025
10 025
10 025
www.ErForum.Net



www.ErForum.Net
Jective Question

95 95

Objective Question

9% 9%
Objective Question
97 97

Objective Question
98 98

www.ErForum.Net

..A

A paint which hardens by evaporation of l.hinher, is

& 92 o iR & arfiewv grr R e d, @ |

f“ Cellulose paint - (Correct Alternative)

Agee ¥

'_‘2 Aluminium paint

Tt 9

o Asbestos paint

TEweg e

f“ Cement paint

de de

A circular beam having an area of 100 ¢cm? is subjected to a shear force of 10 kN. The shear stress, is

TP TSR X T 896 100 em? £, 10 kN & 30U 9 & (e ¥ 1 ST pfiwa,

f\t 1 kN/m?
1 kN/m?
‘:u 10 kN/m?
10 kN/m?
:A3 100 kN/m?
100 kN/m?

Ad N
f 1000 KN/m* — (Correct Alternative)

1000 kN/m?

- The causes for the formation of cracks on the top surface of the roof slab concrete is due to the:

Fwie W 3 Bd B SHUH Tag W & BRI EA B

N Usage of aggregates more than 20 mm size

20 mm 9 3% AHHR F Yo F Iugm

! J_Az Usage of salt water for casting the concrete

Fie 1 gars & forg @R arft & 3udm
:\3 Plastic shrinkage of concrete — (Correct Alternative)
FPIE ¥ Wi g
; 4 Corrosion of reinforcement bars

Haa gard) & Hamo

' Autotrophic bacteria utilize for nourishment.

waurdt sftaro, dreor & farg 1 ITAN FA g1

N Simple organic compounds
e S A

,.-\2 Simple inorganic compounds — (Correct Alternative)

W Y@ e

‘,ﬂ Complex organic substances

wfed sreie e

J_“ Complex inorganic substances

Sfed s ugrf

www.ErForum.Net
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Objective Question -

9 9 Which of the following elements acts as neurotoxin? 1.0 025

 Prafefed 3§ 3 o o aa e & =08 ol axar

Al Lead — (Correct Alternative)

@)
11\2 Cadmium

Fefmy

Nickel

fwa
fM Chlorine

TR

A3

Objective Question
100 100 TOR stands for . 10 025
TOR &1 q0f 7 2l

A

: Teams of Reference
& 3 Y
AZ Techniques of Reference
HIR 3 Y|
Terms of Reference — (Correct Alternative)
ewt off e Tov
- Task of Reference

TR 3B 3B

A3

Al
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